A & ol & AF & Ml A

20179 =0l& et

Al

ton

200 Al2l=+=¢
220 SAIHAN LA+

09 i 0

224 JIEt==¢ (&)
Z2-2-8-5 Oll &F o & E Ol At Hns2

E5 6,876,000 6,188,150 687,850

200 M2l +=¢ 540,000 457,000 83,000

220 A FHAN2 = 540,000 357,000 183,000

224 JIEt=¢ 540,000 357,000 183,000

224-06 12 =¢ 540,000 357,000 183,000

[ 23 ] 540,000 357,000 183,000

<HNET NS4 540,000 357,000 183,000
O D AHEY A EHE = 505,000
ORI WAL AHEH ok BHZ Off 253 ttg=2 35,000

00 EL£3 6,336,000 5,731,150 604,850

510 = DEX3S 700,000 1,055,150 A 355,150

511 =2108x3s 700,000 1,055,150 A 355,150

511-02 Xiggd 700,000 1,052,000 A 352,000

[ 2etsl A ] 700,000 1,052,000 A 352,000

<HNET NS4 700,000 1,052,000 A 352,000
OFR=8=2% 700,000

520 Al - SHIREXZSS 5,636,000 4,676,000 960,000

521 Al - EHIEEXS S 5,636,000 4,676,000 960,000

521-01 Al - & HI 5,636,000 4,676,000 960,000

[ el A ] 5,636,000 4,676,000 960,000

CUWSEEANSLEL 5,636,000 4,676,000 960,000
Oddl &r=g=stdy A8 350,000
O=SAEE 220l tHEE =N ¢ 10,000
OMATHH WS0ola XA (BH2H ALY) 5,276,000




N = 0l & At & Ml A

20178 & =0l &k LBHSIH L JIEFS E 3 A=d ot
FN nEZASHL
Hu: @us DR J|HRE
el ZLE DB (29l 8)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
WEZASLL 17,304,585 18,949,087 A 1,644,502
< 5,286,000
Al 12,018,585
S WSTAl D2 S 17,208,506 13,919,480 3,289,026
< 5,286,000
Al 11,922,506
W I35 14,833,382 11,369, 568 3,463,814
< 5,276,000
Al 9,557,382
I XA 23t 16,402 5,550 10,852
201 Let24E] 12,202 2,050 10,152
01 At 22l 12,202 2,050 10,152
ONSAHEXZ 4oHE AV FHLY
70,000& * 5% « 33 1,050
OXEE WSXE A MM EIHRIE A
=g 100,000& = 78 = 13 700
O WAF I & =AME BE=FY
100,000& = 2¥ « 53] 1,000
ONSLHES 9d sy
70,000& = 13Y « 53] 4,550
OAzol & 2A B4 HA
43,000& = 11404 4,902
202 044l 4,200 3,500 700
01 = LH o4 1l 4,200 3,500 700
OstnX 2 4250l 4,200
WX =3t A& 40,000 40,000 0
308 XX EHHSOIA 40,000 40,000 0
08 uFJ|&20UetE=x 40,000 40,000 0
OusIad dMHusd 29 40,000
tHstw W=sAH X 124,000 94,000 30,000
308 AHAIEHHSOIA 124,000 0 124,000
08 WSII20HetE = 124,000 0 124,000
OQHtHetw THusd 29 94,000
OX3Ustn dMHu=sd 29 30,000
¥ N 54 1,400,000 1,400,000 0
308 XXIEHHSOIA 1,400,000 1,400,000 0
08 WSEII 20 HetE = 1,400,000 1,400,000 0
dofld=0nssw 29 XA 500,000
ZoltiEnsSstn(Oisgin) 29 N 300,000
Otsed Bgusstu 29 N&
100,000,000& * 3JH ! 300,000
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OAIE HEsw |4 At
50,000,000& * 6JH 1 300,000
=S w=sFH N&A 4,956,980 4,160,018 796,962
201 £B-2dH| 814,000 674,018 139,982
01 At 22l 797,150 660,818 136,332
OR0UUWAL HEEE & 22| 2,000
O30YUWA =2 BNMEES
5,000,000& =+ 7XH 35,000
O2HYUWA =4 AXZ (M)
350,000& * 36 * 123 151,200
OO WA =54 AX MMA dEFSI ==
=3 170,000& * 7XH 1,190
OROBIDA 4 27 MAMA HASI 24
=3 50,000& * 77H 350
OR0YDA =2 24Xt EH4+4E
150,000& * 7XH 1,050
ORI WAL AtES A2 FEHl 150,0008 * 34 5,100
OHI xSl 400,000& = 50H = 10% 2,000
ogsg 1,300,000& * 47 * 30% 18,330
Ol 350,000& = 10 = 128 42,000
Ozdiell WA =54 HANESS 490,000
OZdieln WA =54 X S22
500,000& * 3XH 1,500
OZdieln WA =4 FANA 8EF38) ===
400,000 = 3T 1,200
Ol WAL =4 MAMA HXNSI =2
50,000& * 37H 150
ooy 22 =24 3,840,000& * 1228 46,080
02 =224l 3,600 3,700 A 100
O WA =4 22|l
60,0003 = 3674 * 50% » 13 1,080
O WA =4 HAH|
140,000& = 36X * 50% 2,520
03 A2 Z Hl 13,250 9,500 3,750
OO0t E0una 249 3,000,000& = 23] 6,000
Odl AN WA H= 1,000,000 * 13l 1,000
OFUYUWAL 23t 50,0008 * 508 » 13 2,500
OXgrsIIN 2¢9 3,000& = 25% 503 3,750
308 MtXIEHMSOIH 4,140,820 3,483,780 657,040
08 WSII20HetE = 4,140,820 3,413,780 727,040
Ox -2 210 ANYUWA xHE 1,955,820
-=20 1,495,200
(1HEZ) 2,700,000& = 17H 128 550,800
(ts2) 2,500,000& * 19 * 123 570,000
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
(1s3) 2,300,000& = 9H * 128 248,400
(2&83) 2,100,000& * 54 * 12& 126,000
-828a 1,495,200,000& * 10% 149,520
-g532 1,495,200,000& = 1/12 124,600
-+ 100,000& * 50 = 12& 60,000
-22Hd FIJ=% 100,000& = 199 * 12& 22,800
— M H & 2 A 2,000,000& * 47 = 50% 47,000
- MAH LS (2= 300,000& * 39 900
- SHl 55,800
SN (RS M)
50,000& » 13¥ = 12& 7,800
SH(Ags Z&),s9+3HI14
100,000& * 3198 = 12& 37,200
SHAYE+sSHI A
150,000& * 69 = 12& 10,800
OZS3D AAY FOAIT 2 X2
5,000,000& = 3)HHA 15,000
Oxs&u FUHMELREY 25 X
50,000,000& * 274 1 100,000
O=x- -3 2¢tsstn 29 550,000
Ol 458 st 29 810,000
Ox&&n =H 2 K& 20,000& * 35,500 710,000
405 XtabFE SHI 2,160 2,220 A B0
01 AL 2 EF SHI 2,160 2,220 A B0
O2HYUWAF =4 MIHE & I 2
300,000& = 360 * 20% 2,160
NS 0 4 ALY 720,000 0 720,000
308 AXISHXMSOIH 720,000 0 720,000
08 WEII2MCHstE = 720,000 0 720,000
OZdl M2 NsXNIAE X L AFE K& 170,000
OZdl =stMEde &X XA 350,000
OZdll H=ENSAF ALY 200,000
MOTtEH WEXE A (KHAAFY) 2,300,000 5,640,000 A3,340,000
307 212+0| & 500,000 4,640,000 A 4,140,000
11 A SAAEE X 500,000 4,640,000 A 4,140,000
O%UEE UEXNI ALY 500,000
-NMOTE StsE 2 350,000
-SY2ZAN =3 S2H N 50,000
-SJ H348n= K& 100,000
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< 5,276,000
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01 At 22/l 162,200 87,200 75,000
Obt2UEEtEMEHIA 29
140,000,000& * 14 140,000
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Ogdallelzd =Xl 3o &AM
70,000& = 159 « 43| 4,200
OEMEE" 24 12,5002 * 400 5,000
Oott2st 2stsotel 29 3,000
O=SNTE AL EE2 MZE 2003 * 5,0000H 1,000
02 =224l 480 480 0
O M2tHal &Ithl
160,000& = 3H « 13| 480
03 A2 Z I 39,700 38,000 1,700
O8t Al 8 & A (2o 2) 33,000
O=MS0tel 83 X3 A 6,700
-SASotel H2As 1,000,000 = 23l 2,000
-—=Md HE WS 500,000& = 23l 1,000
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SSN ME 89 HALY
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207 RO 30,000 0 30,000
01 A7 39l 30,000 0 30,000
O T S Al 2dll, AHY st=d2sAY| 30,000
307 gl2tol & 35,000 11,060 23,940
04 DIZHHALALSE E X 35,000 6,060 28,940
ONs32cz dtite B8 M 2,000
OZoHAIZ I &M ot M= 23 2,000
O™ ol st BEIIE 9IS EE23 1,000
O & S A 2dy 104 JI8 A 30,000
- SHAEEY = 30,000
SAHE2S(AMAY) 4,700 74,700 A70,000
201 £B-2dH| 4,700 74,700 A70,000
01 At 22l 4,700 74,700 A70,000
Oz Fei0l UIMES =il
2,500 * 2& X x 23] x 1000 & 100
OSAEE |38 ZA=xE
500,000& = 1H « 23| 1,000
OX0tJle SAEHE Z2d 29 3,600
SAHERS(ZH EX) 90,000 0 90,000
< 10,000
Al 80,000
201 Let24E] 90,000 0 90,000
< 10,000
Al 80,000
01 At 22l 90,000 0 90,000
O=AEE el BHREE &4 ¢
9,000& = 2& = 5,000H 90,000
< 10,000
Al 80,000
22 23 XA 966,000 847,200 118,800
307 glz2tol & 903,000 847,200 55,800
02 It M AMHEE 15,000 0 15,000
OX2cN2 SA2Z208 29 & 15,000
03 IAHMEE2IHIES 888,000 847,200 40,800
OS2z N2t 248 X 816,000
OxcIH2EM2 2EH N
3,000,000& = 10HA « 123 36,000
Ozdi=2=2HEM2 234 X
3,000,000& = 10HA « 123 36,000
402 2I2H X201 M 63,000 0 63,000




FN nEZASHL
Hu: @us DR J|HRE
Crel: MY =T Al 2SI CERED
= _ — d =
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01 2IZEH 2 A B (KR ) 63,000 0 63,000
ORSTHE AR X g
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Ostu Nzt 28243 XA 50,000
Ot T M2t AtA T At 40,000
s TAHZ AMAE 2F 126,024 577,557 A 451,533
207 A O] 74,624 40,657 33,967
02 & AR I 74,624 40,657 33,967
OSET N2 ANAE S22
156,676,000& * 12% 18,802
OSEESMZEMHOIX 2225 MHlA 0182
55,000& = 12& 660
OSETMZ AIAE It 25 30,000
OEAMZ EHOIX SERA2e 15,345
OZHLEMZ AIAE S22
39,000,000& * 15% 5,850
OZEANZ WERZ &EbHl |22l
49,580,000& * 8% 3,967
405 TtabH S| 51,400 536,900 A 485,500
01 HatH ESFH S 51,400 536,900 A 485,500
OSSN A2E WERZD EH 7
13,000,000& * 14 13,000
O N2 2H= 2¢ 38,400
— & X+ 50,000& * 568= 28,400
-0e=E 200,000& * 502 10,000
olzsetgldl 43t 76,300 107,600 A 31,300
201 ¢4l 59,500 51,500 8,000
01 At 22l 8,000 8,000 0
OFAW ol2stgl) MRS SYAH 3o
=R 200,000& = 8H =« 53| 8,000
03 A2 Z Hl 51,500 43,500 8,000
O&FAY e2steid d320U3s M=l 46,000
OXZ2EN2 HO0l= A2 29
1,375,000& * 43| 5,500
202 (44l 6,800 6,500 300
01 SLHOYI 6,800 6,500 300
Ousdd R0 3,800
O=% gRFA0H 3,000
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